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SOCIOLOGY 
Maximum : 80 Scores 

  

General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 

 Give equations wherever necessary. 

 Electronic devices except non-programmable calculators are not allowed in the 
Examination Hall. 

 
    15   ‘  ’  .  

 ‘  ’     
 . 

      . 

    . 

  , , ,    
. 

   . 

    . 
      

    .
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Part – I 

 Q. Nos. 1 to 5. Answer all questions, each question carries 1 Score. (Scores : 5  1 = 5) 

 

1. Which among the following is not a factor responsible for the decline in the child sex 

ratio in India ? 

 (a) Female infanticide 

 (b) Severe neglect of girls babies in Infancy. 

 (c) Selective abortions of female fetus. 

 (d) Boy babies are more healthier than girl babies at the time of birth. 

 

2. To overcome biased and incomplete knowledge about the society, we have to look 

ourselves through the eyes of others. This is termed as ______. 

 

3. Which among the following statement is right regarding caste in the present India ? 

 (a) Caste is invisible to both upper castes and lower castes. 

 (b) Caste is visible to both upper castes and lower castes. 

 (c) Caste is visible to lower castes and invisible to upper castes. 

 (d) Caste is invisible to lower castes and visible to upper castes. 

 

4. In Sociology, gender inequality is considered as ________ inequality. 

 (a) Natural 

 (b) Biological 

 (c) Physical 

 (d) Social 
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Part – I 

 1  5     .     

 :   (  : 5  1 = 5) 

1.      

   ? 

 (a)   

 (b)    

 (c)    

 (d)     

 .  

 

2.        

    .   

_________  . 

 

3.       

   ? 

 (a)      . 

 (b)      . 

 (c)         . 

 (d)         . 

 

4.    ___________ . 

 (a)  

 (b)  

 (c)  

 (d)  
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5. Which among the following is a process of structural change ? 

 (a) Industrialisation 

 (b) Secularisation 

 (c) Modernisation 

 (d) Sanskritisation   

 

6. Match the following :  (Scores : 5  1 = 5)  

 A B C 

i. M.N. Sreenivas Economic Liberalisation Capitalism 

ii. British rule Electronic Money Westernisation 

iii. Globalisation Himalayan foot hill 1991 

iv. India Modernisation Ecological Sustanability 

v. Chipko Movement Sanskritisation Trans National Corporation 

       

 

Part – II 

 Q. Nos. 7 to 11. Answer all questions, each question carries 2 Scores.  

      (Scores : 5  2 = 10) 
 

7. The goods that people buy and use are closely related to their status in society.  

 Which term is used to explain above relationship ? Who coined the term ? 

 

8. Define sex ratio. 

 

9. Write any two permanent traits of tribes. 

 

10. Elements of British colonialism lives on in contemporary India. Give two examples 

from the experience of your daily life.  

 

11. Explain briefly, ‘Time slavery’ in the IT sector.  
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5.      ? 

 (a)  

 (b)  

 (c)  

 (d)  

 

6.   :  (  : 5  1 = 5) 

 A B C 

i. .  
 

 
 

 

ii.       

iii.    1991 

iv.     

v.      

 
Part – II 

 7  11     . 2     : 

      (  : 5  2 = 10) 
 

7.       

.      ? 

     ?  
 

8.  . 

 

9.       
 

10.      .  
    . 

 

11.   (..)    (Time Slavery)  

 . 
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Part – III 

 Q. Nos. 12 to 15. Answer any three questions, each question carries 3 Scores. 

      (Scores : 3  3 = 9) 

 

12. British industrialization led to deindustrialization of a few sectors in India. Write down 

social impact of this phenomenon. 

 

13. Define Sanskritisation and write down any two criticism against this concept. 

 

14. The first phase of Green revolution increased inequalities in rural society. Discuss the 

statement.    

 

15. (a) Analyse the role of newspapers in the growth of Indian nationalism. (Scores : 2) 

 (b) Name the Malayalam newpaper associated with National movement. (Score : 1) 

       

 

Part – IV 

 Q. Nos. 16 to 19. Answer any three questions, each question carries 4 Scores. 

      (Scores : 3  4 = 12) 

 

16. (a) Differentiate a social map from a commonsense map. (Scores : 3) 

 (b) Which of these map is more objective ? (Score : 1) 

 

17. Critically analyse the impact of national development projects in tribal areas on the life 

of tribal communities. 

 

18. Analyse the impact of commercialization of agriculture in rural India. 

 

19. Explain the role of media to fight against oppressive social practices and superstitious 

beliefs.     
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Part – III 

 12  15     . 3   : 

      (  : 3  3 = 9) 

 

12.        
 (deindustrialization) .    
 . 

 

13.  .   
    .    

 

14.        .  
 .  (  : 3)  

 

15. (a)        
 .   (  : 2) 

 (b)     
.   ( : 1) 

 

Part – IV 

 16  19   3   . 4   : 

      (  : 3  4 = 12) 
 

16. (a)  (social map)   (commonsense map)  
   ? (  : 3) 

 (b)      ?  ( : 1) 

 

17.         
    
.   (  : 4) 

 

18.      
  .  (  : 4) 

 

19.      
   . 
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Part – V 
 Q. Nos. 20 to 23. Answer any three questions, each question carries 5 Scores. 

      (Scores : 3  5 = 15) 
 

20. Explain and relate age structure of population with the dependency ratio and 

demographic dividend. 

 

21. Analyse market as a social institution and substantiate your answer with an example of 

tribal market. 

 

22. Describe the changes in Indian industry due to Globalisation and Liberalisation. 

 

23. Briefly explain the impact of globalization on Indian culture. 

      

Part – VI 

 Q. Nos. 24 to 27. Answer any three questions, each carries 8 Scores. 

      (Scores : 3  8 = 24) 

24. (a) Define social discrimination. 

 (b) List the major forms of discrimination faced by SCs & STs. 

 (c) Critically evaluate state and non-state initiatives addressing discrimination based 

on caste and tribe. 

  (Hints : Reservations, legislations, reform movements) 

 

25. (a) Define civil society.  (Scores : 2) 

 (b) Point out any two examples of Civil society initiative. (Scores : 2) 

 (c) Examine the relevance of civil society organisations in the contemporary India. 

      (Scores : 4) 
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Part – V 

 20  23     . 5   : 

      (  : 3  5 = 15) 

 

20.     
  . 

 

21.      .  
     .  

 

22.       
  . 

 

23.       
. 

       

Part – VI 

 24  27     

. 8   :  (  : 3  8 = 24) 

 

24. (a)   . 

 (b)   –        
. 

 (c)     
  -    
 . 

  ( : , ,  ) 

 

25. (a)   .  ( : 2) 

 (b)       . 

      ( : 2) 

 (c)       . 

      ( : 4) 
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26. Analyse the sociological significance of Panchayati Raj Institutions. 

 (Hints : Structure of Panchayati Raj Institutions, inclusion of marginalized, power and 

responsibilities.)   

 

27. (a) Define social movements.  (Scores : 2) 

 (b) Explain theories of social movements. (Scores : 6)  

___________ 
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26.       

. 

 ( :   ,  

 ,  )   

 

27. (a)   . ( : 2) 

 (b)    . ( : 6)  

___________ 
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